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B SEAM YsE S8t 2RY SBAF NH(MY - ZAINALHUK/2ALETSK)
el =209 288 Zat N3 (S H2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
=) 4= L3 XA 2,456,000 2,613,660 157,660
XS AADAE XIS (HEAY) 2,070,000 2,200,000 A130,000
307 elztol & 815,000 1,285,000 A470,000
02 2B YAIHE & 815,000 1,285,000 470,000
O£ g XEE XA(HE) 445,000
otiel +=ET2 WHXA(HE) 370,000
308 AtXIEHMSOIE 1,255,000 915,000 340,000
13 S [2SOHe & EAS A 1,255,000 915,000 340,000
O== HHE AEE N (HE) 825,000
o2l =582 HEXH(HE) 430,000
JESEENXE =SI|HAEE ALY 2 36,000 40,660 4,660
201 Ler23| 5,000 7,000 22,000
01 At2teltl 5,000 7,000 A2,000
O=ZXI3 At LY E-book X ZHAF MIE 5,000
202 04| 4,000 6,660 A2,660
01 2L A LI 4,000 6,660 A2,660
FE)|Y 22 & RIJ|2 2 4,000
308 AHXIHMSO0IA 27,000 27,000
13 SV [2S0He 4 A AS A 27,000 27,000
OYASENNE +EI|Y MEE AAH
29 27,000
HHOIQ4HY =2201Y |4 X2 300,000 300,000 0
308 AXIHSOIA 300,000 300,000
01 XN B2 LS 300,000 300,000
oHho|24Y 22EIIY 54 I 300,000
NAEs FERATRIILE (2O EXIY) 50,000 50,000 0
307 @12t0| & 50,000 50,000
02 QB HANEER 50,000 50,000
OXESEst FHARHHEIIA LA 50,000
ofiel ORIE 243t 788,000 789,150 AT1,150
SHRIHI0I0] =& SE+EHEE FA(HEAIY) 400,000 400,000 0
308 XtXIEMSO0IE 400,000 400,000 0
18 SIS0t 4 A AS A 400,000 400,000 0
OiABtoIN =& Se+-S4EI(HE) 400,000
HEES o2l 38 23 388,000 389, 150 A1,180
201 fer23| 3,000 3,750 AT50
01 AtR2te|Hl 3,000 3,750 AT50
OXAZS oflel 2H= L3t 3,000
202 04| 5,000 5,400 A400
01 =LHOHI 5,000 5,400 A400
OXHZ= ofiel JYH 25t 5,000
308 XtXIEMSO0IE 380,000 380,000 0
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SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 XN BdELES 380,000 380,000 0
OXHZS o2l Jd= 235t 380,000
offel =ctel OHAE X2 604,800 909,600 /304,800
oiel =ctel OHBIE K& 604,800 709,600 104,800
201 er2 3| 4,800 9,600 /4,800
01 AtR2t2|HI 4,200 8,400 A4,200
Odli2l =ctel OHE X3 4,200
02 s3=gHl 600 1,200 A600
Oollel =ctel OHE X 600
308 XtXIEMSO0IE 600,000 700,000 100,000
18 SIS0t 4 A A A 600,000 700,000 100,000
Ooliel =ctel OHE X 600,000
WREHE S5 22Y 2@ A4 (&Y ol 1,168,637 927,520 24 117
HXl/ RALETRXI)
uSaEdst 1,168,637 927,520 24 117
=2=8 2% 1,168,637 927,520 24 117
308 XHXIEMSOIE 1,168,637 927,520 24 117
18 SIS0t oA AS At 1,168,637 927,520 24 117
os=2%F =24 320,300
ogz=2% =24 304,854
OciAOI=R 23 227,448
OHIEE=R 2% 316,035
AAHD AZSEE (ARSI =S) 1,072,399 957,231 115,168
= 36,000
= ,036,399
ol & 427,520 376,520 51,000
= Jlz - Jlsgd 28 =2 427,520 376,520 51,000
201 2= 9,500 9,500 0
01 At22t2l] 9,500 9,500 0
OYHSENXN =Y 88 & XN 9,500
202 04l 3,020 3,020
01 SLHoIH 3,020 3,020
OZASENXNEEY 88 & XNH 1,020
OJ1s37I1tg XI& 2,000
301 EtE NS 15,000 14,000 1,000
14 0Bt 2a3 15,000 14,000 1,000
OZASENXEY 88 € K& 15,000
308 XtXIEMSO0IE 400,000 350,000 50,000
13 S [2S0tHet 34 A AS A 400,000 350,000 50,000
OJ1sdJIt= X 400,000
A& At2E X 630,139 568,711 61,428
= 36,000
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